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General Marking Guidance 

  

  

• All candidates must receive the same 

treatment.  Examiners must mark the first candidate in 

exactly the same way as they mark the last. 

• Mark schemes should be applied positively. Candidates 

must be rewarded for what they have shown they can do 

rather than penalised for omissions. 

• Examiners should mark according to the mark scheme 

not according to their perception of where the grade 

boundaries may lie. 

• There is no ceiling on achievement. All marks on the mark 

scheme should be used appropriately. 

• All the marks on the mark scheme are designed to be 

awarded. Examiners should always award full marks if 

deserved, i.e. if the answer matches the mark 

scheme.  Examiners should also be prepared to award 

zero marks if the candidate’s response is not worthy of 

credit according to the mark scheme. 

• Where some judgement is required, mark schemes will 

provide the principles by which marks will be awarded 

and exemplification may be limited. 

• When examiners are in doubt regarding the application 

of the mark scheme to a candidate’s response, the team 

leader must be consulted. 

• Crossed out work should be marked UNLESS the 

candidate has replaced it with an alternative response. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 



 

Question 

Number 

Answer Mark 

1 (a) 

 1. The only correct answer is C 

A is not correct because children do not drive the crocodile-bus to school 

B is not correct because children do not book the crocodile-bus to school 

D is not correct because children do not organise the crocodile-bus to school 

 

 

 

 

(1) 

1 (b) 

 1. The only correct answer is B 

A is not correct because the ‘crocodile-bus’ doesn’t run rarely 

C is not correct because the ‘crocodile-bus’ doesn’t just run now and again 

D is not correct because the ‘crocodile-bus’ doesn’t run once weekly 

 

 

 

 

(1) 

1 (c) 

 1. The only correct answer is A 

B is not correct because there is no mention of the way being always long 

C is not correct because there is no mention of the way being boring 

D is not correct because the way is not different every day 

 

 

 

 

(1) 

1 (d) 

 1. The only correct answer is B 

A is not correct because the children are not alone 

C is not correct because the children are not moody 

D is not correct because the children are not slow 

 

 

 

 

(1) 

1 (e) 

 1. The only correct answer is C 

A is not correct because it is not an alternative to the bus 

B is not correct because it is not an alternative to the bike 

D is not correct because it is not an alternative to the train 

 

 

 

 

(1) 

1 (f) 

 1. The only correct answer is D 

A is not correct because there is no mention of it being expensive 

B is not correct because there is no mention of it being unhealthy 

C is not correct because there is no mention of it being bad for the 

environment 

 

 

 

 

(1) 



 

 
Question 

Number 

Answer Mark 

2 (a) G (1) 

2 (b) K (1) 

2 (c) A (1) 

2 (d) M (1) 

2 (e) L (1) 

2 (f) J (1) 
 
 

Question 

Number 

Answer Mark 

3 

 

For Clerical 

Markers: 

 

If correct 

box is 

ticked, 

please give 

mark and 

ignore any 

other boxes 

ticked. 

 

A Uschi (1) 

B Martin (1) 

C Uschi and Svenja (2) 

D Martin (1) 

E no one (0) 

F Svenja (1) 

G Martin and Svenja (2) 

 
 

Question 

Number 

Answer Accept Reject Mark 

4(a) 12.05 Uhr Fünf nach Mittag Mittag 

12 Uhr 

(1) 

4(b) (heiße) Schokolade  Tee (1) 

4(c) nichts  Kuchen (1) 

4(d) ärgerlich/böse/ 

unfreundlich 

beschwert sich  (1) 

4(e) ängstlich/nervös/ 

enttäuscht 

Er hat Angst. fröhlich/er wartet (1) 

4(f) gestern am Vortag 

einen Tag vorher 

Any other time not 

referring to the day 

before 

(1) 

4(g) Freundinnen  Peter/Lila (1) 



 

4(h) Café  Eisbahn/ any other 

place 

(1) 

4(i) Buch verspätet Blumen (1) 

4(j) Straßenbahn  Bus (1) 

 
  



 

Question 

Number 

Answer Accept Reject Mark 

5(a) Any two from the following: 

- (Sie wollen) sich erholen 

- Exotik und Abenteuer 

genießen/erleben 

-die Welt sehen 

für Erholung/ 

Exotik/ 

Abenteuer 

 

-die malerischen 

Hotspots zu 

sehen 

- (Wir wollen) uns 

erholen 

- die Welt 

 

Direct lift 

(2) 

5(b) Any two from the following: 

- es gibt zu viele Touristen  

-  ihr Leben ist schwieriger 

- der Tourismus zerstört 

Landschaften 

 - Es gibt überall 

Probleme. 

- Der Tourismus ist 

die größte Industrie 

der Welt. 

- Wir verreisen 

mehrfach im Jahr in 

Urlaub. 

(2) 

5(c) Die Touristen halten nicht die 

richtige Distanz. 

Die Touristen 

kommen ihnen 

zu nah. 

 

Löwen-Babys werden 

auf Farmen geboren 

und dann in die 

Reservate gebracht. 

(1) 

5(d) Sie denken, sie sind in einem 

Zoo oder in der Wildnis. (2 

marks) 

-Sie fühlen sich 

wie in einem 

(großen) Zoo 

- wie in der 

Wildnis 

 

- Sie verstehen nicht 

die Inszenierung 

hinter diesem Event. 

-in einem großen 

Zoo/ in der Wildnis 

(does not answer 

question) 

(2) 

5(e) One of the following: 

Urlauber glauben, eine 

authentische Erfahrung zu 

machen. 

 

Urlauber sind naiv und 

sentimental. 

  

 

(1) 

5(f) One of the following:  

-Das wahre Land 

kennenlernen 

-Eine individuelle Erfahrung 

machen 

  (1) 



 

5(g) One of the following: 

- nicht ins Ausland zu reisen 

- Zu Hause zu bleiben 

- Urlaub im eigenen Land 

machen 

-mit den 

Auslandsreisen 

aufzuhören 

- Viele hören 

deswegen 

einfach mit dem 

Reisen auf. 

-Allow answers 

with 

infinitive/wir/ma

n 

 (1) 

 

Question 

Number 

Communication and Content 

6 The candidate should have referred to the following bullet points: 
 

• Party  

• Wochenende  

• Geschenke 

• gefeiert 
 

Maximum of 4 if one bullet is missing. 

Maximum of 3 if two bullets are missing. 

Maximum of 2 if three bullets are missing. 

Candidate scores 0 if no bullets have been addressed. 

Mark Descriptor 

0 No rewardable material. 

1 • Isolated examples of relevant information. 

• Only isolated words and phrases are communicated, as appropriate to the 

task. 

• Only isolated items are comprehensible. 

2 • The response contains little relevant information with limited use of detail. 

There may be repetition. 

• Expresses simple ideas and opinions, as appropriate to the task. 

• Just about comprehensible overall but with sentences that are mostly 

unconnected. 

3 • The response contains some relevant information with occasional use of detail. 

• Begins to show ability to express ideas and opinions and to inform, as 

appropriate to the task. 

• Coherent overall but logical flow and sequence of ideas is intermittent, which 

impedes clarity. 



 

4 • Some detail and mostly relevant response to the task. 

• Shows some evidence of ability to express ideas and opinions and to describe, 

or inform, as appropriate to the task. 

• Coherent with logical flow and sequence of ideas, though there may be some 

lapses. 

5 • Detailed and fully relevant response to the task. 

• Shows a clear ability to express ideas and opinions and to describe or inform, 

as appropriate to the task. 

• Coherent with logical flow and sequence of ideas. 

Question 

Number 

Linguistic knowledge and accuracy 

6 Candidate scores 0 if no bullets have been addressed. 

Mark Descriptor 

0 No rewardable language. 

1 • Isolated examples of target language vocabulary and structures. 

• Uses very basic language to write words and phrases. 

• Isolated examples of accurate language. 

2 • Uses very familiar and predictable vocabulary and structures, often repetitive. 

• Uses simple, familiar and predictable language to write short sentences or 

phrases. 

• Occasional correct phrases but frequent misspellings, inaccurate genders and 

incorrect verb forms. 

3 • Uses familiar and predictable vocabulary and structures. 

• Some evidence of manipulation of language to produce sentences but this is 

not sustained. 

• Sometimes accurate in using straightforward language but there are major 

errors with verbs and tenses. 

4 • Tends towards use of familiar and predictable vocabulary and structures. 

• Some evidence of manipulation of language to produce sentences. 

• Mostly accurate with some minor errors, e.g. spellings, genders and 

agreements and an occasional major error, e.g. with verbs and tenses. 

5 • Uses a range of vocabulary and grammatical structures. 

• Language manipulated to produce fluent sentences. 

• Very accurate with only isolated minor errors, e.g. spellings, genders and 

agreements. 

 



 

 
 
 
 
 
 
 
 
 
 
 
 
 

  



 

Question 

Number 

Communication and Content 

7 (a) 

 
 

 

 

 

 

 (b) 

 

 
 

 

 

 (c) 

The candidate should have referred to the following bullet points: 
 

• wie du zu Hause hilfst 

• warum du nicht jeden Tag Hausarbeit machen kannst 

• was deine Familie gestern Abend zusammen gemacht hat 

• wie du nächstes Wochenende relaxen möchtest. 
 

The candidate should have referred to the following bullet points: 
 

• welche Qualitäten du für Volunteering hast 

• deine Meinung zur Arbeit mit anderen 

• welche interessante Arbeit du schon gemacht hast 

• dein Berufswunsch für die Zukunft. 
  

The candidate should have referred to the following bullet points:  
 

• die Vorteile vom Leben in der Stadt 

• warum das Leben auf dem Land gut ist 

• was du neulich in deiner Gegend gemacht hast 

• wo du später im Leben wohnen möchtest. 
 

Maximum of band 7-8 if one bullet is missing. 

Maximum of band 5-6 if two bullets are missing. 

Maximum of band 3-4 if three bullets are missing. 

Candidate scores 0 if no bullets have been addressed. 

Mark  Descriptor 

0  No rewardable material.  

1–2  • The response shows minimal ability to express ideas relevant to the narrative, 

report or description required, and ideas hardly follow a logical sequence. 

• The response is rarely coherent and there is so much digression that the overall 

theme or purpose of the piece is greatly obscured. 

3–4  • The response shows some basic ability to express ideas in a form that would be 

comprehensible to a sympathetic native reader, with only occasional evidence of 

ideas following a logical sequence. 

• The response is occasionally coherent and, while there is some digression, the 

theme or purpose is generally clear. 

5–6  • The response shows a moderate ability to express ideas in a form that would be 

comprehensible to a sympathetic native reader, and some evidence of ideas 

following a logical sequence. 

• The response is sometimes coherent and there is digression from the topic but 

the overall theme or purpose is clear. 



 

7–8  • The response shows a good ability to express ideas in a form that would be 

comprehensible to a sympathetic native reader, with much evidence of ideas 

following a logical sequence. 

• The response is mostly coherent and while there may be occasional ambiguity 

or digression from the theme, these appear to be aberrations in an otherwise 

pertinent response. 

9–10  • The response shows an excellent ability to express ideas in a logical sequence 

and errors do not interfere with comprehension for a sympathetic native 

speaker. 

• The response is entirely coherent and while there may be minor ambiguities or 

digression from the theme, the response is confident, fluent, pertinent and 

purposeful. 

Question 

number  

Linguistic knowledge and accuracy    

7  

Mark  Descriptor 

0  No rewardable material.  

1–2  • Very limited range and variety of vocabulary and grammatical structures, use of 

only one tense, with a high degree of repetition. 

• Very little evidence of correct spelling, verb formation, gender and agreement. 

3–4  • Narrow range of vocabulary and grammatical structures, and a possible attempt 

at a second tense, though with a significant amount of repetition. 

• Occasional evidence of correct spelling, verb formation, gender and agreement. 

5–6  • Satisfactory range of vocabulary and grammatical structures, and unsteady use 

of two tenses, though with some noticeable repetition. 

• Some evidence of correct spelling, verb formation, gender and agreement. 

7–8  • Good range of vocabulary and grammatical structures, and secure use of at 

least two tenses, with little noticeable repetition. 

• Significant evidence of correct spelling, verb formation, gender and agreement. 

9–10  • Excellent range of vocabulary and grammatical structures, and secure use of at 

least three tenses, including some complex lexical items and no noticeable 

repetition. 

• Very strong evidence of correct spelling, verb formation, gender and agreement. 

 
 
 
 
 
 
 

  



 

Question 

Number 

Answer Mark 

8 (a) entwickelt (1) 

8 (b) begonnen (1) 

8 (c) war (1) 

8 (d) kleines (1) 

8 (e) darf (1) 

8 (f) macht (1) 

8 (g) umgebaut (1) 

8 (h) wird (1) 

8 (i) hektisch (1) 

8 (j) interessanten (1) 
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